$$(\operatorname{cont} d \operatorname{from previous notes})$$

$$J(H) = \begin{pmatrix} 1 & 0 \\ \frac{\partial f_1}{\partial y_1} & \frac{\partial f_2}{\partial y_2} \end{pmatrix}$$

$$det J(H) = \frac{\partial f_1}{\partial y_2} = \frac{\partial f_2}{\partial X_1} \frac{\partial X_1}{\partial y_2} + \frac{\partial f_2}{\partial X_2} \frac{\partial X_2}{\partial y_2} \quad (Chain trule)$$

$$= \frac{\partial f_2}{\partial X_1} \frac{\partial q}{\partial y_2} + \frac{\partial f_2}{\partial X_2} \cdot 1$$

$$= \frac{\partial f_2}{\partial X_1} \left(-\frac{\partial f_1}{\partial X_2} \frac{\partial q}{\partial y_1} \right) + \frac{\partial f_2}{\partial X_2}$$

$$= -\frac{\partial f_2}{\partial X_1} \frac{\partial f_1}{\partial X_2} + \frac{\partial f_2}{\partial X_2}$$

$$= -\frac{\partial f_2}{\partial X_1} \frac{\partial f_1}{\partial X_2} + \frac{\partial f_2}{\partial X_2}$$

$$= -\frac{\partial f_1}{\partial X_1} \cdot \left[\frac{\partial f_1}{\partial X_1} \frac{\partial f_2}{\partial X_2} - \frac{\partial f_1}{\partial X_2} \frac{\partial f_2}{\partial X_1} \right]$$

$$= \frac{det J(F)}{\frac{\partial f_1}{\partial X_1}} + 0 \quad \text{at } p.$$

So, Hak satisfy the requirements and we have

$$H \circ K \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} = H \begin{pmatrix} y_1 \\ y_2 \end{pmatrix} = \begin{pmatrix} y_1 \\ f_1(y_1, y_2) \end{pmatrix}$$

 $= \begin{pmatrix} f_1(x_1, x_2) \\ f_2(x_1, x_2) \end{pmatrix} = F \begin{pmatrix} x_1 \\ x_2 \end{pmatrix}$

This completes case 1.

$$(\underbrace{ase 2}_{=} \frac{\partial f_1}{\partial X_1}(p) = 0$$

Since
$$det J(F) = \frac{5}{9X_1} \frac{5}{9X_2} - \frac{5}{9X_2} \frac{5}{9X_1} + 0$$
 at F ,
 $\frac{5}{9X_2}(P) \neq 0$
Interchanging the variables $\begin{pmatrix} X_1 \\ X_2 \end{pmatrix} = \begin{pmatrix} X_2 \\ X_1 \end{pmatrix}$
Then the new mapping $F(X_1)$ satisfies the condition
in case 1. Applying case 1 to F , then interchanging
back to x_1, x_2
 $\frac{5tep2}{4}$ let $\begin{pmatrix} y_1 \\ y_2 \end{pmatrix} = K\begin{pmatrix} x_1 \\ x_2 \end{pmatrix} = \begin{pmatrix} x_1 \\ x_2 \end{pmatrix}$ be a differentiation
from region R_1 to $R_2 = K(R_1)$. Then for any function
 $f(y_1, y_2)$ on R_2 ,
 $\iint_{R_2} f(y_1, y_2) dy_1 dy_2 = \iint_{R_1} f(K(x_1, x_2)) \begin{pmatrix} \partial(y_1, y_2) \\ \partial(x_1, x_2) \end{pmatrix} dx_1 dx_2$
 $= \iint_{R_1} f(k(x_1, x_2) x_2) \begin{pmatrix} \partial(y_1, y_2) \\ \partial(x_1, x_2) \end{pmatrix} dx_1 dx_2$

Pf: By additivity property of integrations and cuttary R₁
(and correspondingly
$$R_2 = \kappa(R_1)$$
) into small regions, we
may assume $R_1 = [a,b] \times [c,d] = \{a \le X_1 \le b\}, \ C \le X_2 \le d\}$
For any fixed $y_2 = x_2$,
 $y_1 = k(x_1, x_2) = k(x_1, y_2)$, for $a \le x_1 \le b$

can be regarded as a transformation of 1-raniable
Note that
$$\frac{2y_1}{\partial X_1} = \frac{2k}{\partial X} = dit \left(\frac{2k}{2X_1}, \frac{2k}{\partial X_2}\right) = dit J(k) \neq 0.$$

(step 1)
Note also that kz is of special fam
 $\{c \leq y_1 \leq d, k(a, y_2) \leq y_1 \leq k(b, y_2) \leq (\frac{2y_1}{\partial X_1} > 0)$
a. $\{c \leq y_1 \leq d, k(b, y_2) \leq y_1 \leq k(a, y_2) \}$ $(\frac{2y_1}{\partial X_1} < 0)$
By Fubini's Thue (assuming $\frac{2y_1}{\partial X_1} > 0, \text{ the other case is smiller})$
 $\iint f(y_1, y_2) dy_1 dy_2 = \int_{c}^{d} \left(\int_{k(a, y_2)}^{k(b, y_2)} f(y_1, y_2) dy_1\right) dy_2$
and change of variable famula \tilde{u}_1 i-cautable implies
 $\int_{k(a, y_2)}^{k(b, y_2)} f(y_1, y_2) dy_1 = \int_{a}^{b} f(k(x_1, y_2), y_2) \frac{2y_1}{\partial X_1} dX_1$
 $= \int_{a}^{b} f(k(x_1, x_2)), x_2 \int \frac{2y_1}{\partial X_1} dX_1 \left(\int_{c \leq 1}^{x_2} f(x_1, y_2) dy_1 dX_1\right) dX_2$
 $= \int_{c}^{d} \int_{a}^{b} f(k(x_1, x_2), x_2) \left[det J(k)\right] dx_1 dx_2$
 $= \int_{c}^{d} \int_{a}^{b} f(k(x_1, x_2), x_2) \left[det J(k)\right] dx_1 dx_2$
 $= \int_{c}^{d} \int_{a}^{b} f(k(x_1, x_2), x_2) \left[det J(k)\right] dx_1 dx_2$

Stop3: If the change of variables famula holds for F&G, then it holds for FoG Ef = Early by J(FOG) = J(F)J(G) (Chain Rule) ⇒ 1detJ(FoG)] = (detJ(F)||detJG)| Final step: Combing steps 1-3, and using additivity property of integration, we've proved the Thung fa general charge of variables famula X [Actually, this applies to all dimensions.]

Vector Analysis
Notation: Unually in textbooks, vectors are denoted by
boldfare
$$\mathbf{\hat{s}}$$
, but third to do it on screen.
So my notation of vectors are:
 $\int general vectors : \vec{v}, \vec{F}, \vec{r}, \vec{\nabla}_{\mathbf{n}}, \cdots$
 $\int general vectors : \hat{z}, \hat{j}, \hat{\pi}, \hat{m}, \cdots$
Line integrals in \mathbb{R}^3 (\mathbb{R}^n)
(poth integrals)
 $\frac{\text{Pef9}}{(\text{poth integrals })}$
 $\frac{\text{Pef9}}{(\text{poth integrals })}$
 $\frac{\text{Pef9}}{(\text{poth integrals })} = \mathbb{R}^3$
 $\vec{r} : [a, b] \rightarrow [\mathbb{R}^3$
 $\vec{x} \mapsto \vec{r}(t) = (x(t), y(t), \vec{z}(t))$
 $\hat{v} \int_{C} f(\vec{r}) ds = \lim_{n \to \infty} \frac{n}{2} f(\vec{r}(t_{22}) \Delta s_{2})$
 $\text{uniter } P$ is a partition of $[a, b]$, and
 $\Delta s_{2} = \int (\Delta x_{2})^{2} + (\Delta z_{2})^{2} + (\Delta z_{2})^{2}}$
 $(\hat{z}, ds = length observed of the lance $\sum_{i=1}^{n} \frac{(x_{i} + i_{i})^{2}}{(x_{i} + i_{i})^{2} + (\Delta z_{2})^{2}} = (s_{1})^{2}}$$

Remarks:
(1) If
$$f \equiv 1$$
, $\int_C ds = arc-length of C$

(Z) The definition is well-defined, i.e. the RHS in the definition is independent of the parametrization $\tilde{F}(t)$.

Def 9' (Formula for line integral)
Notations as in Def 9, then

$$\int_{C} f(\vec{r}) ds = \int_{a}^{b} f(\vec{r}(t)) |\vec{r}'(t)| dt$$

where $\vec{r}'(t) = (x'(t), y'(t), \vec{r}'(t))$



and
$$|\vec{r}'(t)| = \int (X'(t))^2 + (Y'(t))^2 + (z'(t))^2$$

(2) Suppose the curve C is parametrized by a new parameter it $t \longleftrightarrow \tilde{t} \qquad (t \Leftrightarrow \tilde{t} \text{ is intreasurg})$ $\Gamma_{0,b7} \qquad \Gamma_{0,b7} \qquad \Gamma_{0,b7} \qquad (t \Leftrightarrow \tilde{t} \text{ is intreasurg})$ $ds = (\bar{r}'(x) | dx = | \frac{d\bar{r}}{d\bar{r}}(x) | dx$ $= \left| \frac{d\tilde{r}}{d\tilde{t}} \cdot \frac{d\tilde{t}}{d\tilde{t}} \right| d\tilde{t} = \left| \frac{d\tilde{r}}{d\tilde{t}} \right| d\tilde{t} \qquad (by chain rule)$: is and hence $\int_{a} f(F) ds$ is independent of the parametrization of C. t1 (3) If F(t) is only piecewise differentiable a=to then the RHS of Def? £z *+= b becomes sum of each piece: If $[a,b] = [t_0, t_0] \cdots \cup [t_{i-1}, t_i] \cup \dots \cup [t_{k-1}, t_k]$ 3 such that $\vec{r} = \begin{bmatrix} i & differentiable \\ then \\ tit, til$ $\int_{a} f(\vec{r}) \, ds = \sum_{i=1}^{k} \int_{a}^{t_i} f(\vec{r}) |\vec{r}'(t)| \, dt$

$$\begin{array}{l} \underline{eqs^{s1}} & \int (x,y,z) = x - 3y^{2} + \overline{z} \\ C &= line segment joining the night and (1,1,1) \\ Fund & \int_{C} f(x,y,z) ds \\ \end{array}$$

$$\begin{array}{l} \text{Find} & \int_{C} f(x,y,z) ds \\ \hline F(t) = t (1,1,1) = (t,t,t) \\ (i.e. x(t) = t, y(t) = t, \overline{z}(t) = t) \\ \end{array}$$

$$\begin{array}{l} (i.e. x(t) = t, y(t) = t, \overline{z}(t) = t) \\ \Rightarrow & F'(t) = (1,1,1) \\ \Rightarrow & F'(t) = 1\overline{3} \\ \end{array}$$
Hence $\int_{C} f(x,y,z) ds = \int_{0}^{1} f(t,t,t) \sqrt{3} dt \\ &= \int_{0}^{1} (t-3t^{2}+t) \sqrt{3} dt = 0 \ (chech!) \end{array}$

egg3 let (be unve in
$$\mathbb{R}^2$$
 ($x, e, \exists (\pm) = 0$)
and it has 2 parametrizations:
 $\vec{F}_1(\pm) = (aot, aint), \pm \in [-\frac{\pi}{2}, \frac{\pi}{2}]$
 $\vec{F}_2(\pm) = (\sqrt{1-\pm^2}, -\pm), \pm \in [-1, 1]$
Support $f(x,y) = x$. Find $\int_C f(x,y) ds$.
(We simply omit the \exists -variable, as (is a plane came and
 \pm is indep. of \equiv)

$$\begin{aligned} Soly: (i) \quad \vec{F}_{i}(t) &= (\omega t, s \dot{u} t) \quad - \underline{\eta} \leq t \leq \underline{\eta} \\ \\ &\int_{C} f(x, y) \, ds = \int_{-\underline{\eta}}^{\underline{\pi}} f(\omega t, s \dot{u} t) \left| (\omega t, s \dot{u} t) \right| dt \\ &= \int_{-\underline{\eta}}^{\underline{\pi}} \omega t \cdot \left| (-s \dot{u} t, \omega t) \right| dt \\ &= \int_{-\underline{\eta}}^{\underline{\pi}} \omega t \, dt = z \quad (cleck!) \end{aligned}$$

$$(\dot{l}') \quad \vec{r}_{2}(t) = (J - t^{2}, -t), \quad -1 \le t \le 1$$

$$\int_{C_{1}} f(x,y) \, ds = \int_{-1}^{1} J - t^{2} \int (\frac{d}{dt} J - t^{2})^{2} (\frac{d}{dt} (-t))^{2} \, dt$$

$$\dots = \int_{-1}^{1} dt = z \quad (check!)$$

$$(chek!)$$
This varifies the fact that the line integral is indep. of
the parametrization.
$$graph \text{ of } f \text{ over } C$$

$$= (signed) \text{ area under the}$$

$$graph \text{ of } f \text{ over } C$$

Prop 7: If C is a piecewise smooth curve made by
jouring C1, d2, ... Cn end-to-end, then
$$\int_C fds = \sum_{k=1}^n \int_{C_k} fds$$

(Pf: clear from the nemark of Ref?) Remark: "end-to-end" mouris " end point of C'k-1 = mittal (end) point of C'k" $eg_{34} : let f(x, y, z) = x - 3y^2 + z (again)$ C1, C2, C3 are live sogments as in the figure: $\begin{array}{c} z \\ y \\ (0,0,0) \\ C_{z} \\ (1,1,0) \end{array}$ We already did S.fds=0 (egs2) One can similarly do $\int_{C_{3}} f ds = \int_{C_{3}} f ds + \int_{C_{3}} f ds$ $= -\frac{\sqrt{2}}{3} - \frac{3}{3}$ (ex!) The obsenvation is $\int_{C_1} f ds = 0 \neq \int_{C_2 \cup C_3} f ds$ even C, & C2UC3 have the same end points! Conclusion: Line integral of a function depends, not only on the end points, but also the path